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Math Club Worksheet #2 Quadratic Problems:

1. Find all possible values of a /b if a* +4b° = 4ab
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2. Let f(x)=a’x’+5ax+3 and f(2)=2. Findall possible values of the constant “a”
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3. Find the value of “x” if “x” is positive and x —1 is the reciprocal of x+5
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4. Let “f” be a function for which f(x/3)= x* 4+ x+1. Find the sum of all the values of “z” for which

f(32)=7 [amc12]
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5. Let “a” and “b” be the roots of the equation x> —mx +2=0. Suppose that a+— and b+— are the

roots of the equation x* — px +¢ = 0. What is the value of “q"?
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6. Find all real solutions to (x‘ —5x +5) =

O Q"= \
KW =4%x+2L0 = o
(5( —-gb (’(—’ (\:—°

Y= ¥L=x".

ao

®© (Y =\
W T-Sx Y = |
K =Ty =p
(»L.A-\)(»(- =0

W=, =\

a

@ ) =)

= sx+ s =~ |\

X - Sx— (=0

é(——(o)(x—l- W\ = o
v ,:‘:_ -

K 1o
(V4

LA+ €O 44 sag

evam | V=W
Find all solutions to the system of equations: :
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8. Find the roots of ¥’ +(a——]x 1=0 in terms of “a”
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9. Find the solutions to (x' —11x" +24x” ) - (4x* — 44x +96) = 0
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10. |f = 1 has solutions for “x” such that each solution is the negative of the other, then find
ax—c¢  m+

C) m” in terms of “a” and “b”. [AHSME]
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11. Find constants “a” and “b” such that / —a is as small a possible, and the entire graph of the equation
1-x
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s lies within a<y<bh
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12. Prove that if —— = 3 then “a” and “b” can’t both be real numbers
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13. Let “m” and “n” be the roots of ax’ +bx+c =0. Prove that if m’ +n” =1, then 2ac = b’ E]
-~

b
AKX FLA FC = A (X oW —n) x +
- ~

—_—

5'\( K —wvAx —V\’X—\—VVW\\

= 'X‘L— ()X t A
Ax_(wm-\-O\W\x-\—mth_M,,v\ C - .
A
- e « L A= C
O +an = =\,

LA O
aowman — C 0\1_

a
A Cmrn)= -\,

_\i‘: \A:—.\—Z,(__\,\r\v
0 (T rzmn )= L* o >
A ) * &2 G = 7 b ke
om o+ 24 C = L™ 0~ o
= = ax 2¢

\
>
4
~
)
r

X% 9
X

COMC Page 4

o %:: O = (K- x—1)



